5000

4000

3000

2000

1000

—-1000

-2000

-3000

Adet (ppb)

X2 / ndf
p0

32.46/ 36
845.8 + 218.1

—
—

II|IIII|IIII|I¢LLfﬁttﬂJJII|IIII|IIII|IIII|I

[em—
[am—
—
—
H

— &

—

12

10

1D pull distribution

-5

-4

Mean 0.007051 + 0.154
] Std Dev 0.9367 +0.1089
Underflow 0
Overflow 0
X2 I ndf 5.235/6
Constant 6.72 +1.59
Mean 0.02893 + 0.19850
Sigma 1.03 £0.18
\
I|III|III|I III|II|
-2 0 2 4 6 8




RMS (ppm)

138

137

136

135

134

133

Adet RMS (ppm)

_LI|IIII|.IIII|IIII|IIII|IIII
°

AN [ N " Y I A A A
3884?g85?8’85§3’j’85?§8g?geg?j’ag?geg?gsg?gaz?ge 0675886 23’58;?gag?geg?fsg?geg?yeg?gefgeg?gsg?gsffgo?ggg?gsfgg £891709,7505°592559°8927595799893,




dit_asym_usl (ppb) 1D pull distribution
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